Sec 8-2: Scientific Notation

Scientific Notation:

A number greater than or equal to 1 but less than 10
times
a power of 10.

It's a compact way to write really big or really small numbers

Scientific Notation

"
25,000 = 2.5 x 10*

[

Standard Notation
or
Decimal Notation

Examples of numbers written in Scientific Notation.

5.209 x 107

8.33 x 107

Is each number written in scientific notation?

1.63.91 x 103
<7>
e No
LS

3.0.98974 x 107°

%
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No

2.1.0031 x 10~
Yes



Does each scientific notation number represent a "big"
number or a "small" number?

1. 7.908 x 10~ 2.3.74x 102 gig
SMALL

3. 2.002 8 , -3
2.0027 x l(E)SIG 4. 9998 x 10 S 1

Write each number in Scientific Notation:

i 500,000
T/ exponent should be positive

g 1S X { O because the original number

: 0.000056

exponent should be negative
5 because the original number

% - b X (U is "small"

When in Scientific Notation:
A negative exponent means a g)jaLL humber

A positive exponent means a  BIGnumber

Write each number in Standard Notation
(also known as Decimal Notation)

14,33 x 10% 2 5.0734 x 107
o0t 33 o700




Each number is NOT in Scientific Notation. Rewrite it so that it IS

in Scientific Notation. 3. O QAQS) 19 X 10 ?;”3 4 0 _gz 55 X 1Q:”;2
1 223 x10° 2 4561 x10®

2 bigger
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52397&)046 L. =S WD
Method 1: Methiod 2:
First decide where the decimal point
First change number to should be:
Standard Notation: 4.561
22,300,000

Since this moves the decimal point
Then change it into three times you need to change the
C . . exponent by an equal amount.
Scientific Notation correctly: i .
To decide if you increase or decrease the
223 x107 exponent by three think about it this way:
Since you made 4561 smaller to turn it
into 4.561 you must make the exponent
bigger by 3 to keep the overall number
the same. 4551 x 108+3 =

Entering a number in Scientific Notation on the calculator
light travels 186,000 miles per second. How far does light travel in:

6
1 day? 1.87 x 10
1. Enter the decimal portion: 1.87
|96, mi  LOsec O mi 291, :25 Erc:ss thent.6-
Sec  |mm e " _—‘d—@y- . Enter the exponent:

You will see 1.87 E 6
which is calculator's way of writing 1.87 x 108

= [-6OT04 S
This 15 the colewlatorsy
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You can now finish Hwk #9

Due Monday

pages 402-403

Problems 1-3, 10-12, 16-18, 42, 43



